Solution to Puzzle #61 — June, 2006 "Two-way"
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The omitted letters (in parentheses in the list below) spell TO AND FRO, suggesting that
some across words are entered backwards, as indicated by the right-to-left arrows.

Across
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PANACHE
VAGABOND «
RODEO

RESIN «
EOSIN
DELETED «
STATE
OMELET «
SAPPER

. COEVAL «
. PARDON

. PARTED «

. REED

. SERVE «

. STRIVER «
. AREA «

. COAT «

. NORA «

. THIOL

. MALTA «

. MOLEST «
. EMBAR «

Down

WPNAN RN =

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.

PAS(T)EL
ADVANTAGE
LEVERET
SNARE
METE(O)R
HEAVE
DOOR
SAIL
(A)CROSS
CARTOO(N)
HOST
APPEAL
MEDIA
PARVO
ARDENT
PRE(D)ICT
ANODE
(F)EDERAL
BO(R)NE
TROD
TRAM

BITE
L(O)NESOME

Kevin Wald solved the puzzle in 60 minutes.



